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Factoring by Using the GCF
Factor each polynomial. Check your answer.

A ax?-3x
Find the GCF
X The GCF of ax* and 3x Is x.
1x(x) — 3(x) Wit terms as products using the GCF as
a factor.
x(dx— Use the Distributive Property to factor out
the GCE
7N
Check x(1x - 3) Multiply to check your answer.
axtoaxs The product s the original polynomial.
1B 10y 4 20y% -5y
Find the GCF

The GCF of 10y, 20y%, and Sy is 5y.

Wite terms as products using the GCFas a
factor.

Use the Distributive Property to factor out
the GCF.

Multiply to check your answer.
The product s the original polynomial.
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Factor each polynomial. Check your answer.

[ -tze-at

121+ 8x7) Both coeffcientsare pgative. Factorout —1.

-3 Find the GeE
2 {gx
X

e

3.5, Xoax mheocrofiaxandscisac
“1[30x) +25(49)] Wite each term as a product using the GCE
—1[ax(3 + 2x)] Use the Distrbutive Property to factor ot
“1(ax)(3+21) the GCF
—ax(3 +2x)
Check
o
453 +20) = —12x — 822/ Multiply to check your arswer
B 47
522 Find the GF
7
55047 There are no common factors other than 1.

The polynomial cannot be factored.
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Science Application
Mandys calculator is powered by solar
energy. The area of the solar panelis
(722 ¥ x) em?. Factor this polynomial
{0 find possible expressions for the
dimensions of the solar panel.

A= 4x The GCF of 74? and x is x.

Write each term as a product
using the GCF as a factor
—x(x+1) Use the Distributive Property
o factor out the GCF
Possible expressions for the dimensions of the solar panel are x cm and
TR el

=72 + 1)




